ONLINE SERVICES FILING RECORD: IFTA CARRIER RETURN



Taxpayer Name: AMEX TRANS LINK INC **Account Number: 205-889088**

Account Type: IFTA Carrier Tax

Return Type: Original

Submitted: 4/28/2025 4:57:31 PM

Confirmation #: 0-048-874-069

Period Begin: January 01, 2025

Period End: March 31, 2025 **Due Date:** April 30, 2025

Remaining Due: \$158.66

Summary	
Subtotal Amount Due or Credit	\$158.66
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$158.66

Filing Period: March 31, 2025

Jurisdiction 9	Jurisdiction Summary											
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Tax	Interest	Total
California		2. Diesel	3,919	3,919	6.12	640	482	158	1.0230	\$161.63	\$0.00	\$161.63
Nebraska		2. Diesel	4,525	4,525	6.12	739	700	39	0.3040	\$11.86	\$0.00	\$11.86
Nevada		2. Diesel	6,608	6,608	6.12	1,080	1,830	-750	0.2700	-\$202.50	\$0.00	-\$202.50
Utah		2. Diesel	3,153	3,153	6.12	515	141	374	0.3850	\$143.99	\$0.00	\$143.99
Wyoming		2. Diesel	6,368	6,368	6.12	1,041	859	182	0.2400	\$43.68	\$0.00	\$43.68
			24,573	24,573		4,015	4,012	3		\$158.66	\$0.00	\$158.66

ONLINE SERVICES FILING RECORD: IFTA CARRIER RETURN



Taxpayer Name: AMEX TRANS LINK INC Account Number: 205-889088

Account Type: IFTA Carrier Tax

Period Begin: April 01, 2025

Period End: June 30, 2025

 Return Type:
 Original
 Due Date:
 July 31, 2025

 Submitted:
 7/28/2025 10:52:57 AM
 Paragining Date:
 \$132.43

Confirmation #: 0-050-742-099 Remaining Due: \$122.43

Summary								
1. Subtotal Amount Due or Credit	\$122.43							
2. Penalty	\$0.00							
3. Interest	\$0.00							
4. TOTAL BALANCE DUE OR CREDIT	\$122.43							

Filing Period: June 30, 2025

Jurisdiction S	urisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Tax	Interest	Total	
California		2. Diesel	5,484	5,484	6.32	868	722	146	1.0230	\$149.36	\$0.00	\$149.36	
Nebraska		2. Diesel	7,111	7,111	6.32	1,125	2,125	-1,000	0.3040	-\$304.00	\$0.00	-\$304.00	
Nevada		2. Diesel	9,121	9,121	6.32	1,443	2,355	-912	0.2700	-\$246.24	\$0.00	-\$246.24	
Utah		2. Diesel	4,335	4,335	6.32	686	0	686	0.3850	\$264.11	\$0.00	\$264.11	
Wyoming		2. Diesel	8,856	8,856	6.32	1,401	321	1,080	0.2400	\$259.20	\$0.00	\$259.20	
			34.907	34.907		5.523	5.523			\$122.43	\$0.00	\$122.43	

ONLINE SERVICES FILING RECORD: IFTA CARRIER RETURN



Taxpayer Name:AMEX TRANS LINK INCAccount Number:205-889088

Account Type: IFTA Carrier Tax Period Begin: July 01, 2024

Return Type: Original Period End: September 30, 2024

Due Date: October 31, 2024

Summary	
1. Subtotal Amount Due or Credit	\$242.88
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$242.88

Filing Period: September 30, 2024

Jurisdiction 3	Summary											
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Tax	Interest	Total
California		2. Diesel	5,984	5,984	6.91	866	537	329	1.0230	\$336.57	\$0.00	\$336.57
Idaho		2. Diesel	1,797	1,797	6.91	260	0	260	0.3200	\$83.20	\$0.00	\$83.20
Nebraska		2. Diesel	7,249	7,249	6.91	1,049	2,138	-1,089	0.2960	-\$322.34	\$0.00	-\$322.34
Nevada		2. Diesel	10,007	10,007	6.91	1,448	3,047	-1,599	0.2700	-\$431.73	\$0.00	-\$431.73
Utah		2. Diesel	4,108	4,108	6.91	595	0	595	0.3650	\$217.18	\$0.00	\$217.18
Wyoming		2. Diesel	10,368	10,368	6.91	1,500	0	1,500	0.2400	\$360.00	\$0.00	\$360.00
			39.513	39.513		5.718	5.722	-4		\$242.88	\$0.00	\$242.88

ONLINE SERVICES FILING RECORD: IFTA CARRIER RETURN



Taxpayer Name: AMEX TRANS LINK INC Account Number: 205-889088

Account Type: IFTA Carrier Tax Period Begin: October 01, 2024

Return Type: Original Period End: December 31, 2024

Due Date: December 31, 2025

 Submitted:
 Due Date:
 January 31, 2025

 Remaining Due:
 \$258.43

Confirmation #: 0-047-061-190 Remaining Due:

Summary	
1. Subtotal Amount Due or Credit	\$258.43
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$258.43

Filing Period: December 31, 2024

Jurisdiction :	lurisdiction Summary												
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Тах	Interest	Total	
California		2. Diesel	5,484	5,484	6.31	869	547	322	1.0230	\$329.41	\$0.00	\$329.41	
Nebraska		2. Diesel	7,111	7,111	6.31	1,127	1,965	-838	0.2960	-\$248.05	\$0.00	-\$248.05	
Nevada		2. Diesel	9,111	9,111	6.31	1,444	2,002	-558	0.2700	-\$150.66	\$0.00	-\$150.66	
Utah		2. Diesel	4,335	4,335	6.31	687	133	554	0.3650	\$202.21	\$0.00	\$202.21	
Wyoming		2. Diesel	8,856	8,856	6.31	1,403	880	523	0.2400	\$125.52	\$0.00	\$125.52	
			34.897	34.897		5.530	5.527	3		\$258.43	\$0.00	\$258.43	